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1s an unauthoriz
which functions from inside what seems
to be an authorized program, thereby
concealing what it is actually doing.
(A) War dialer (B) E-mail
(C) Trojan (D) Spam trap
If in a certain code, ‘ELEMENT 18
written as ‘ELEMTNE’, then how will
‘OXIDE’ be written in that code ?
(A) OXDIE (B) XOIED
(C) OXEID (D) XOEID

Consider the following

statements about Secular

State.

L. A secular state is one that does not
establish any one religion as official
religion.

II. Indian secularism practices an
attitude of a principled and equal
distance from all religions.

(A) Only the statement II is correct

(B) Both the statements I and
IT are correct

(C) Only the statement I is correct

(D) None of the above

The average salinity of Indian Ocean’is
(A) 710% B) 36%
(C) 35% (D) 30%

India ranks in fruits and
vegetables production in the world mzrgs

A) 1 B) 4 [
©) 3 D) 2

Nitin was counting down from 32, Sumit

Was . counting upwards the nymbers

starting from 1 ané) he was callj

calling out onl,
3151 (;}dlgg nulﬁlbers. What commor% ?’1llllnlbe¥
o frzlag O(l)llfl;t at the same time, if they
e at the same speed ?

(B '
(C)) '21‘éley Will not call oyt the same number

D) 21
The nth elem

-1, 2, -4, 8

ent (_)f the sequence

(B) 2+
(D) 2=
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(A) Motion sjc
(B) Syndrome
©) Hydrophobig

(D) Altitude sicknegg

The point on the
which is. fe tSurface of the earth

on :
earthquake waveg € to experience

(A) Focus B) ¢
(©) Hypocentre () prdera

A alone can make 100 b

kness

oot

(A) 3 days B) 3%hours

©) zéhours (D) 4 days

converts AC power from an
electrical outlet to the DC power needed
by system components.

(A) SMPS (B) Memory

(C) Bus (D) UPS

How many 6’s are there which are

preceded by 3 but not followed by'8 ?

8436790638479368694136042

A) 2 B) 1

©) 3 (D) None of these
button reloads the current

document that the user is viewing.

(A) Back (B) Refresh
(C) Stop (D) Address bar

The first meeting of Constituent
Assembly was held on

(A) 11t November 1946

(B) 9t December 1946

(C) 11t December 1946

(D) 9t November 1946

Which of the following banks is the Central

Bank of India ? .
(zsnState Bank of India

T

B4

13.

(B) Corporation Bank of'India
(C) Reserve Bank of India
(D) None of the above
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Inwhich type of ovule the micropyle, chalaza
and funicle are in one straight line ?

(A) Anatropous (B) Campylotropous
(C) Amphitropous (D) Orthotropous

Which day of the week will 27t February 2016
be, if 2 February 2016 is a Tuesday ?

(A) Monday (B) Saturday
(C) Wednesday (D) Tuesday

18 a situation whereby a court
of competent jurisdiction has declared a
person or other entity insolvent, having
passed appropriate orders to resolve it
and protect the rights of the creditors.

(A) Bankruptey
(C) Insolvency

(B) Currency crunch
(D) Bad loans

1s the most common way for
individuals who used home computers
to connect to the internet.

(A) Leased line (B) Dial-up Oy 30!
(C) Cable Modem (D) ISDN i

The instrument used to measdre the
atmospheric pressure is

(A) Barometer (B) Ceilometer
(C) Hygrometer (D) Anemometer

In which type the ovary occupies highest
position on the thalamus ?

(A) Mesogyny (B) Perigyny

(C) Hypogyny (D) Epigyny

In this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.
Statements :

1. All trees are plant.
2. All fruits are tree.

Conclusions :
L. All plants are tree.
Some plants are fruits.
(A) Only conclusion IT follows
(B) Both conclusions I and II follows
(C) Neither conclusion I nor 11 follows
(D) Only conclusion T follows
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If the sum of n terms of an AP is 2n?+ 3n,
then its n' terms is

(A) 4n B) 2n + 4

(C) 4n + 2 D) 4n+1

In ancient times the term Usara was used
to indicate

(A) Fertile soil
(C) Waste soil

(B) Sandy soil
(D) Sterile soil

Choose theword outofthe given alternatives,
which cannot be formed from the letters
of the word ‘CONSULTATION’.

(A) CONSTANT (B) STATION

(C) SALUTE (D) NATION

Who won a Gold Medal at the 2021
World Cadet Wrestling Championship
in Budapest, Hungary ?

(A) Bhavina Ben Patel
(B) Priya Malik

(C) Kseniya Patapovich
(D) Marykom

RAM stands for

(A) Rapid Access Memory

(B) Register Address Memory
(C) Register Access Memory
(D) Random Access Memory

g3

If ‘A’ denotes ‘—, ‘B’ denotes %, ‘C’
denotes +’ and ‘D’ denotes ‘+, then

343C7D52A3B12="?
(A) 137 (B) 102
(C) 65 (D) 107

World Wildlife Crime Report, 2020 is

published by

(A) Interpol

(B) United Nations Office on Drugs and
Crime (UNODC)

(C) Ministry of Home Affairs,
Government of India

(D) None of the above

0

@;ﬁfﬁl’ﬂ
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(A) 4n (B) 2n+ 4
(C) 4n + 2 (D) 4n+1
24.  TEH TSl W I IT6Q 1 ST R G
& foru 3w fema strar e 7
(A) 39T fadh (B) et firgh
(C) sugFd @t (D) s fug
25. fau e ket @ wrsg g i veg
‘CONSULTATION’ & 31871 @ =&} s=m s
HehdT |
(A) CONSTANT (B) STATION
(C) SALUTE (D) NATION
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Which one of the following amendment
is related to Urban Local Government ?
(A) 44t (B) 73

(C) 24t (D) 74th

has various provisions

and safeguards in relation to detecting,
preventing and penalising corporate fraud.

(A) Companies Act, 2013

(B) Indian Contract Act, 1872

(C) Income Tax Act, 1961

(D) Indian Penal Code, 1860
Cnidoblasts are present in

(A) Porifera (B) Cnidaria
(C) Annelida (D) Ctenophora
Find the missing number.

215 [1330 m

=

EIgH

™

’_ o
=

\/\CP
NEZAUE/A
(A) 900 (B) 1099
(©) 999 (D) 949

Haryana ranks
roduction in the country.

8&) 10 (B) 13

©) 12 D) 11

The case in which the Supreme Court

gave a decision that there is a basic

structure of Constitution and nobody

can violate the basic structure

(A) Unnikrishnan case

(B) Kesavananda Bharati case

(C) Golakanth case

(D) A.K. Gopalan case

World Health Day is celebrated every
year on

in vegetablés

(A) 7" October (B) 7™ April

(C) 9% March (D) None of the above
Out of 100 kids, 50 are members of Team
X' and 75 are

members of Team Y. If 40
kids are members of both teams then

hOW many of these 100 kids belong to
neither of the two

30.

31.

32.
33.
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34.

35.

teams ?
. B) 40
© 35 D) 15
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(&) Flt i, 2014
(B) IRl Srgsfy , 187
(C) 3Tt rferfm, 196 ?
(D) 9t 32 Hfear, 1860
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O whwrd ) R
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(A) 900 B) 1099
(C) 999 (D) 949
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39.

40.

41.

42.

43.

By

44, Militaryexercise of AUSINDEX is associated

g the

b ) namj e
organisms jg calleq e of living

(A) Nomenclature

Food and Agricy]
founded in

(A) October 1944
(C) October 1947

(A) Lower case

(C) Proper case
Select the correct
given figure when
at line AB. A

FURNITURE E

B
(A) HUATIVIAUA
(B) HAUTINAUA
(C) HAUTIVU AT
D) HAUTIVIAUT

Bovina spent Rs.

Usually the email addresg

(B) Standardisation
(D) Identification

ture Organisation was

(B) October 1950
(D) October 1945
is in

B) Upper case
(D) All of these

mirror image of the
the mirror ig placed

et
w0

for

44,668 on her air

tickets, Rs. 56,732 on buying gift§ for the
family members and the remaining 22%
of the total amount she had as cash with

her. What was the
-# (A) Rs. 28,600

SR

"8 (0) Rs. 1,01,400

between India and

(A) US
(C) Australia

total amount ?

(B) Rs. 33,800
(D) Rs. 1,30,000

(B) Japan
(D) China

40.

41.

42,

43.

44.
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(A) TFER 1944 (B) 3T 1950
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(A) B et A (B) &2 Hawi 1
(C) vgar er o (D) g+
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1 3T AB W @1 St )

A

FURNITURE E

B

(A) HUATIVIAUA
(B) HAUTINAUYT
(C) HAUTIVIU A1
D) HAUTIVIAUT

T 3 377 7T oerat W s, 44,668, 9iET
% 93wl & fofu STRR wie W . 56,732 @4
FAN B TR I T et T 7 99 229 TS
o T 5 ST §| e Ry o ot 7

(A) ®. 28,600 (B) ®. 33,800

(C) ®. 1,01,400 £D) %. 1,30,000
AUSINDEX #8 s1ra vy ok
3 gafd 2|

(A) 3@ (B) SmaM

() wRfr D) =+
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If we divide the National Income of
country by total population then we get
(A) Personal disposable income \;\(,
(B) Per capita income o
WA
to”

(C) Personal income
(D) Private income

Complaints to Magistrates contained in
(A) Chapter XIII of Criminal Procedure Code
(B) Chapter XVI of Criminal Procedure Code
(C) Chapter XV of Criminal Procedure Code
(D) Chapter XIV of Criminal Procedure Code

National Animal Disease Control
Programme for Foot and Mouth

Diseases (FMD) and Brucellosis
(NADCP) Scheme envisages

to eradicate them through
vaccination by the year

(A) 2030 (B) 2035
(C) 2050 (D) 2040

The sum of series, (~1000) + (-900) +

(-800) + ...... + 1100 + 1200 is
A O (B) 1200
(C) 2200 (D) 2300

Under unfavourable condition§ many
zooplankton species in lakes'and ponds
are known to enter , a stage of
suspended development.

(A) Conform (B) Diapause

(C) Migrate (D) Dormant
Material culture consists of man-made
objects which are in nature.

(A) Tangible (B) Concrete
(C) Abstract (D) Both (A) and (B)

of a number exceeds its 1;— by 8. The

5

number is

(A) 30 (B) 90
(C) 75 D) 60

The largest gas by volume in Bio-gas is
(A) Methane

(B) Hydrogen
(C) Nitrogen

46.

417.

48.

49.

50.

51.

(D) Carbon dioxide

52.

. T 3q
SR AT T FRAE (NADCP) s 1 sprre

aﬁ\wmmmm%l

(A) 2030 (B) 2035

(C) 2050 (D) 2040

&l TS TG (-1000) + (=900) + (-800) +
...... + 1100 + 1200 =1 T &7 g1 ?

A) 0 (B) 1200
(C) 2200 (D) 2300
wger Rl 3 el of et §
EREICER SR , Frcifaa formm & w
TOT T Y A R |
(A) IFEA (B) Iwfd
(C) wagH (D) Weled
e e 3 T Ffr e e ad
=l epfei 1 el B
(A) Irfas® (B) 3™ I
(© ¥R (D) (A) 3R (B) 3 Ll
%;ﬁzzi@nm%w% %@83@%
2, Jg v ®
A) 30 B) gg

5 D)
%;Hﬁw%w_ﬁaﬁ@?ﬁ?'
(&) e
(B) ETEEIH
(C) g

(D) FTE STRTTFTES
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;I;v}vlgoi:%v;rslst 13% and B are 60 km apart A
gy o5 e built to serve 150 students
of fown 2. 0 students of town B. If the
fotal cist ce to be travelled by all the 200
u is to be as small as possible, then

where should the school be built ? ’
N4

(A) In town B

(B) 45 km from town A M
¢
\ Y

(C) In town A
(D) 45 km from town B

18t Non-Aligned Movement (NAM) Summit
was hosted by

(A) Azerbaijan (B) Sri Lanka

(C) Bangladesh (D) Pakistan
Ifthe 25t of AugustinayearisTh ursday,
then number of Mondays in that month is
(A) 3 (B) 6

(C) 5 (D) 4

Thermal decomposition of lime stone

produces

(A) Quick lime
(C) Marble

In open groups mobilit
(A) Restricted

(B) Relatively difficult
(C) Possible

(D) Both (A) and B)
The number of permutation

(B) Lime water
(D) Slaked lime
y of members is

s of the letters

of ALLAHABAD is Of
A) 9! ®) 9 S
2(4")
9!
© 2—: O 1
is called the brain of the computer:
(A) CPU B) Register
(C) Motherboard (D) Memory
9:8::16:7
A) 14 ®) 27
(C) 17 (D) 18

The British brought the Police
Commissionerate System first 10
(A) Delhi (B) Bengalurd

(C) Kolkata (D) Bombay
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9! idl
(C) 5 D) 7
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A triply ionized beryllium (Be®) has the
same orbital radius as the ground state
of hydrogen. Then the quantum state n
of Be®* is

A) n=1 (B) n=4
C)n=3 (D) n=2

How many delegates participated in the first
session of the Indian National Congress ?
QA) 15 B) 84
) 72 (D) 43
India’s first ‘experimental’ smog tower

has been set up to purify air in a 1 km
radius around the structure at

(A) Varanasi (B) Mysore
(C) New Delhi (D) Chandigarh

In a row of boys, if A who is 10t from the left
and B whois 9%, from the right, interchange
their positions, A becomes 15% from left.
How many boys are there in the row ?

(A) 23 (B) 31

(C) 28 D) 27

In a mixture of 60 litres, the

ratio of milk and wateris 2: 1. If

the ratio of the milk and water

is to be 1 : 2, then the amount of
water to be further added is

(A) 20 litres (B) 60Qilitres

(C) 40 litres (D) 80 litres
provides the highest quality

text and images for personal computers.

(A) Drum printer M&

(B) Daisy wheel printer 9,\\/\/\

(C) Laser printer (’0

(D) None of the above

It is one of the important outcomes of the
globalization process
A
B
C

Outsourcing
Industrialization
Disinvestment
None of the above

The minimum percentage of deposits that
needs to be maintained by commerci
banks in the form of liqui(f’ assets, cash,

old, government securities ete. refers to
%; Cgash Reserve Rate

Statutory Liquidity Ratio
0}

Reverse Repo Rate
None of the above
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70.

71.
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76.

In O
natio(;folb?lr, 2021 world’s largest Khadi
al tlag was inaugurated in

(A) Leh

B) Chandigarh
C) K ( andigar
(©) Karnal (D) Jammu

iS Often uSG‘d ]f th .
. . > e or
n some suitable solvent ore is soluble

(A) Benefaction
(C) Dressing

(B) Froth flotation
(D) Leaching

Which pattern most closely resembles

the following pattern ?
4 V\ﬂ{f\aé.

r for

\

a ] _ bj c d

[ [ [ )
B

@) o ®) d
(©) b D) a

If on a marked price, the difference on
selling prices with a discount of 30% and
two successive discounts of 20% and 10% 1s
Rs. 72, then the marked price (in rupees) is
(A) 3,600 B) 2,400 e
(C) 2,500 (D) 3,000 %ﬁ,‘i
Cyclical changes during reproduction in
dogs are called
(A) Asexual cycle (B) Oestrus cycle
(C) Sexual cycle (D) Menstrual cycle
When did Mammals evolve on earth ?
(A) 400 million years ago

(B) 50 million years ago

(C) 500 million years ago

(D) 200 million years ago

What is Disguised Unemployment refe

(A) It is a situation wherein the
number of workers in a Job is less
than required to do the job

(B) It is a situation wherein the ‘
number of workers in a Job 1s more
than required to do the J0

(C) Tt is a situation wherein the . .
number of skilled workers 11 a jo

kers to do

rs to ?

70.

71.

72.

73.

74.

75.

is less than unskilled worker

the job
(D) None of the above

5 HE

76.

CMMS - S3

arazar 2021 H, g & vad @1e @rdl Ui
ea[s1 hT IGETEA el fohdT T 7

(A) ©E (B) =ermg
(C) =TT (D) S
= vEm wan ® afy ofaes fed
SR et # faerreiiar €t 2|
(A) 3THR (B) = g
(C) ufta™ (D) Freaem
&) ¢ e enpteEt § @, Fw At i e
T AT g B /@R Bl

L

a b c d

C

(A) < ®) d

(Cx-b D) a

af 37fRd Ted T 30% i G2 AN 20% F 10%
1 31 T T % A1 I e AW E. 72
2 1, sifra qoa (vt &) FTR 7

(A) 3,600 (B) 2,400

(C) 2,500 (D) 3,000

it § Y % SN s T

FEAT &
(B) 39g8 9%

(A) TcifiTeR =
(C) ifireh =izh (D) B T

qedf} o TRTRET T foreRrd et g3
(A) 400 firfora =d
(B) 50 faferm ad
(C) 500 faferr a¥ gd
(D) 200 firfere o &
e SUSTTR] o1 314 1 8 7
(A) 7 T T fef o O T B
%Qﬂaﬁﬁﬁaﬁaﬁsﬁmwmﬁ
B) 938 T Teh A
( )ﬁwﬁmﬁaﬁﬁﬁm
a1fereh Bl @ , .
©) W@@@ﬁ%mﬁ@ma
R Y EE ST A 4 T
(D)Wﬁ@ﬁs‘q‘é’f
X20
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Direction (77-79) : Study the given information
carefully and answer the questions that follow :

I

IL.
III.

IV.
V.

71.

78.

79.

80.

81.

82.

83.

X20

A,B,C,D, E, F and G are sitting on a wall
and all of them are facing east.

C is on the immediate right of D.

B is at an extreme end and has E as his
neighbour.

G is between E and F.

D is sitting third from the south end.
Immediately between which of the
{ollowing pairs of people is D sitting ?

A) AC (B) CF

() CE (D) AF ?ﬁgg
Name the person who should crﬁange
places with C such that he gets the third
place from the north end.

(A) E B) D

©€) G D) F

Which of the following pairs of people
are sitting at the extreme ends ?

(A) FB (B) AB
(C) CB (D) AE
The difference between the value of exports
and value of imports of goods of a countty
in a given period of time is known as
(A) Balance of trade
(B) Capital account
(C) Current account
(D) Balance of payment
The number of significant figures in
11.118 x 108 is
A 3
© 5

B) 4
D) 6

The standard protocol used for sending
e-mail is called
(A) http

(C) telnet

(B) SMTP
D) ftp

When money supply exceeds available

goods and services, it leads to

(A) Inflation (B) Paraflation
(C) Hyper deflation (D) Deflation

Join Telegram Group "Haryanadobsin”
For”
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frser (77-79) : TR T AR Y SreRm s
Frfafaa e 1 3 AR
I. A B CDE, FaﬂrG@aﬁanw@‘ﬁ
3 qE HH aé_%l
[I. C,D & g ¢ §|
I1L. B@@TW%@TEWW%I
IV. G, E3MFFdNe
V. D <faoft ar 8 diag ?)
. Fraffea ® @ o gw % ot g 3
7 D3R ? TAF A
(A) AC (B) CF
(C) CE (D) AF
78.  3U HI T TARY S C 1Y 3H YR Y
SEedT 8 o 98 ST O @ e’ T W ST )
(A) E B) D
© G D) F
79. f=fafad 7 @ ot &1 wF-w1 3w el w
q3TR 7
(A) FB (B) AB
(C) CB (D) AE
80. U fIu e TH H ek 9w Y At % Rt ofk
T & i § 3R FHEATTE |
(A) TR Her
(B) St @ran
(C) = e
(D) AT Jge
81. 11.118x 10-5 H HEcqul ichi o GEaT
A) 3 B) 4
© 5 (D) 6 @‘,ﬁ
82. {-im 4w ¥ fore W o
FHEAT 2|
(A) http (B) SMTP
(C) telnet (D) ftp
83. & YATY(d IuTTey FEgedt it fareit @ A
ga B
(A) gerhifa (B) Wi
(C) =fr Sraehify (D) rqehify

-12-
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g4. Whoimproveqd the theory of Copernicus ? 84. eprafieT % fagra # feram gum fomam 7
e o
1t1an
: s ) feam=
(C) Michael Ange, Fo ﬁva’L & C'ng) Faher gfsrett
(D) Jackot Nufer (D) SICAE TH
85. Tl“eH’C‘F'Of(X3+XZ+X+l)and(x“—l)is 85. (x?+x*+x+ 1) I (x! — 1) 1 wEwH
A) =1) (x2+ 1) U B
B) &+ 1) x+1) x4y A) x*- 1)+ 1
(C) (x+1)(x2+ 1 B) x2+ 1) (x+1) &*+1)
©€) x+1)x*+1)
@) x+ 1) &= -1 D) (x+1) (x2— 1)
86. is an electromechgns : W’a 2 S ST
That allows the e 1o foog ot | T e o e el B g ae
into the. computer for analysis, storage ;?;?ﬁ% IR F Ea 3;@51 (FHTS) i R
and to give commands to the com utef HEA
(A) Memory device puter. (A) T gfaa
(B) Output device (B) ST giad
(C) Input device EES (C) sra®
(D) None of the above At (D) ST T & i3 A€ X
87. Select the correct combinationofopposite | 87. & HGE TR =l TH T ERREEISIE A
faces, when the given figure is folded to Ot foadd worat 1 9 9IS E\l,ﬁ‘{l
form a cube.
6 | 6
[1]5 (1[5
2 2 )
3[4] 314]
A) 1,6 B) 5,3 A) 1,6 B) 5,3
©€) 3,4 (D) 5,2 (€) 3,4 D) 5,2 :
88. Which of the following States haslaunched | 88. F=fcifaa # & fore Towr A5 I T I 7 !
s vatan Prem Yojana’ ? . h
% (A) Haryana (B) Punjab (A) wfemom (B) oTTs .
~ (C) Gujarat (D) None of the above (C) Tsa (D) I A | HIE Tl
8. The primary memory is also called the 89. iy AuRt A1 FEamd 2|
(A) Secondary memory (A) et TR
(B) Virtual memory (B) et Autdt
(C) Main memory © 3@& If““
i (D) Registers @) .
%1t the radius of the base of a cone is | 90. ﬁﬁ%%ﬁa"glltﬁﬁWﬁmﬁw
halved, keeping the height same, what STe, T ST Y HHA T Y, 9 gL WE &
:; the ratio of the volume of the reduced ST 1 T YTk o SATI § STaTel 1 €1 7
he to ¢, ioi ?
W 1rg e o e @ 1:2 ®) 2:4
' (B) 2: ©) 1:4 D) 1:3

© 1.4 D) 1:3
e X20



91.

English Language

In the following question a sentence has
been given in Direct/Indirect speech.
Out of the four given alternatives. Select
the one which best expresses the same
sentence in Indirect/Direct speech.
Aparna said to me, “I have been dancing
for two hours”.
(A) Aparna told me that she has been
ancing for two hours
(B) Aparna told me that she was dancing
for two hours
(C) Aparna told me that she is dancing
for two hours
(D) Aparna told me that she had been
dancing for two hours
Inthese question, there are fouralternatives
following a word or phrase given as the key
term. One of the alternatives best explain

the meaning of that word or phrase, spot
the correct alternative,

FLIMSY

(A) Sturdy (B) Fly

(C) Firm (D) Weak

Fill in the blank with right form of

the word (given in bracket) from the
alternatives given below it,

A united effort is a condition for the
of success (achieve).

(A) achieve (B) achievable
(C) achievement (D) achieving

Fill in the blank with suitable concord
from the alternatives given below it.

Not only the principal but also the
students laughing.

(A) am (B) was
(C) were D) i1s
The following sentence containg
grammatical error or idiomatic
error in it. You have to find oyt
that part of the sentence and
choose the alphabet of that part
as your answer.

He complained about headache after

reading the article.
(A) He complained
(B) the article

(C) after reading
(D) about headache

92.

93.

94.

for”
95.
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&=t wrn
serTelt T8 fohd hEd & 7
(A) Jeer 219 gHaTe YTeel
B) T vl & 0 & 31 a7k w3
(C) T TEHaTet YTsal i
(D) 58 © i T
T o) e wad el 3
(A) HTST TTRT
(B) g fe=et careran
(C) Tewt ametaiter samartor
(D) ¥4 & F1 e
RUAN__ & YT R €Y Feed 3]
(A) =T5H
(B) *Tet
(C) =
(D) 5 & *1$ 7

99.&@%*“ SHE = IS Gty seed |
R @)

(B) 7

©) 3hs

(D) 37 ¥ % 7

100. ‘Fremgamr R wm oty
(A) wRT*Fm famrg 3
S (B) wmd v

%

©) Ty &M

96.

917.

98.

D) T8 & F1$ 7
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